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You should have the following for this examination:
Answer booklet;
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Answer any FIVE of the EIGHT questions in the answer booklet provided.
All questions carry equal marks.
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Differentiate between formal and informal organizations. (4 marks)
With the aid of diagrams, illustrate the fo]iowing types of organisations structures:

(i) geographically baséd;

(ii)  product based. (8 marks)
Explain four criticisms levelled against management by objectives as a philosophy of
management. (8 marks)
Highlight two disadvantages of Operations Research (OR) approach to management

(4 marks)
Explain four principles of management by Henri Fayol. (8 marks)
Explain four contributions of scientific management to production efficiency in
industrial organisations. (8 marks)
Explain the following:
(1) Downtime;
(ii))  Overhaul. : (4 marks)
Identify the four types of preventive maintenance. : (4 marks)

(1) Outline the key pre-requisites to planning an effective maintenance programme
in an industrial organisation.
(i)  State five advantages of such a system. (8 marks)

Explain two factors that affect the reliability of production plant. (4 marks)
Explain the following terms as used in material procurement:

(1) competitive bidding;

(i)  speculative buying;

(ili)  product specification;

(iv)  quotation. (8 marks)

The following data relate to a given stock item:

Normal usage -------------1500 units

Maximum usage --—------ 2000 units

Minimum usage -----—---- 1000 units

Lead time -------------—--10 - 20 days

Economic order quantity —-—-----35,000 units.
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Determine

(1) re-order level;

(i1) minimum level;

(iii) maximum level. ' (6 marks)

Explain three reasons why industrial organisation keep stock of raw materials.

(6 marks)
Highlight four responsibilities of the despatching section of a production plant.

(4 marks)
Outline the stages of product design and development. (8 marks)
Explain four limitations of a mass production system. (8 marks)

Highlight four principles of method study related to the motion of human body when
working. (4 marks)

State four uses of work study data in an industrial organisation. (4 marks)

Differentiate between relaxation allowance and interference allowance, giving
an example in each case. (4 marks)

The observed time and rating for each element of a job under study are given in
table 1.

Element | Observed time (minutes) Rating
1 2.80 120
2 3.50 90
3 1.90 90
Table 1

(i) Determine the basic time for the job.

(i)  If the total working allowances are 2.20 minutes and non-working allowances
are 1.6 minutes, determine the work content and standard time for the job.
(Take standard rating to be 100) (8 marks)

Describe the following methods used by organisations to train their employees:

(i) simulation;
(i1) vestibule;

(iii)  apprenticeship. (9 marks)
Explain the stages of employee selection process used by organisations when hiring

new employees. (7 marks)
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